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For U constant as t→ too
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NBL solutions of the original Fisher - KPP equation
are unique .

NB1 Solutions at the the equation are not .

If htt) is a UIZTA ) is a solution
solution for ⇒

for the same C
.

fixed C

But , if c , A both fixed , the wave is

Usually unique .
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we have shown that with U70 there is a solution

of the the equations for every C72 , and with

C72 fixed the phase space trajectory is unique .

Moreover
,
the solution is monotonic because UC0 in

'

R
.

NB We have shown , for C fixed , the phase space
trajectory is unique .

The non - uniqueness
associated with the fact that if Utz )

solves the Thr egns then so does ULZTA )

( A , constant ) simply corresponds to a shift

along the phase space trajectory .

This , in
.

turn , corresponds to translation of
the TW .
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AI 1CS decay less rapidly than the TW
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So behaviour dominated
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model Slt ) - susceptibles

IIT ) - Infective s

Rtt ) - Removed
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① Will the disease spread ?

If = - r Is ⇒ s decreasing , SE So
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It
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if so a f- then da¥c0
Initially and no
outbreak

.

It need so > I initially for an outbreak .



② Max . number of intakes ?
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③ How many catch the disease overall
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application to Fox rabies .
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Travelling wave analysis
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How severe is the epidemic ?

Want an expression ten star )
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